BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION EIGHT HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS APRIL 12, 2024 LJA ENGINEERING, INC. C CORTEZ **APRIL 12, 2024** 0386-5080C (9.2)

TOTAL AMOUNT BID

BIDDER'S NAME

1) BAY PAVING, LLC

2) HCG

3) DACO PAVING, INC.

4) PRECISE SERVICES INC.

\$685,898.90

\$732,259.80

CALENDAR DAYS 45/55

CARISSA M. FABIAN

I, CARISSA M. FABIAN, P.E., hereby certify these bid tabulations to be true and correct.

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING & APPURTENANCES
TO SERVE GRAND PRAIRIE HIGHLANDS SECTION EIGHT
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
APRIL 12, 2024
LJA ENGINEERING, INC.
C CORTEZ
APRIL 12, 2024
0386-5080C (9.2)

2) HCG

3) DACO PAVING, INC.

1) BAY PAVING, LLC

				1) DATE AVIIT	,	2/1100		S) DAGO I AVII	10, 1110
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SECT	ON 8 - PAVING ITEMS (INTERNAL)								
	ROADWAY, ROW AND LOT EXCAVATION, TO BE USED FOR ONSITE FILL TO MATCH ELEVATIONS PER GRADING PLAN (SHEET 12 OF 29), TO INCLUDE STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8° LIFTS, REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	3840	\$5.00	\$19,200.00	\$3.75	\$14,400.00	\$9.00	\$34,560.00
	6" REINFORCED CONCRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE STRENGTH AND MINIMUM 5 SACKS CEMENT PER CUBIC YARD OF MIX, COMPLETE IN PLACE	SY	8888	\$48.00	\$426,624.00	\$48,50	\$431,068.00	\$48.00	\$426,624.00
3	6" LIME/FLY ASH STABILIZED SUB-GRADE (MANIPULATION), INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	9491	\$3,15	\$29,896.65	\$4.60	\$43,658.60	\$3.75	\$35,591.25
	HYDRATED LIME FOR STABILIZED SUB-GRADE (15 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	72	\$335.00	\$24,120.00	\$365.00	\$26,280.00	\$360 00	\$25,920.00
	FLY ASH FOR STABILIZED SUB-GRADE (40 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	190	\$135.00	\$25,650.00	\$135.00	\$25,650.00	\$151.00	\$28,690.00
6	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	954	\$3.55	\$3,386.70	\$4.00	\$3,816.00	\$4.25	\$4,054.50
7	4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	4370	\$3,55	\$15,513.50	\$4.00	\$17,480.00	\$4.25	\$18,572.50
8	CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING 6" CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	56	\$15.00	\$840.00	\$47.00	\$2,632.00	\$5.50	\$308.00
9	STANDARD PAVING HEADER, COMPLETE IN PLACE	LF	28	\$10.00	\$280.00	\$19.50	\$546.00	\$20.00	\$560.00
10	4" BLUE SQUARE DOUBLE REFLECTORIZED BUTTONS LOCATED ACROSS FROM FIRE HYDRANT, COMPLETE IN PLACE	EA	6	\$17.25	\$103.50	\$18.00	\$108.00	\$15.00	\$90.00
11	PERMANENT TRAFFIC CONTROL DEVICES, (INCLUDING ALL TRAFFIC BUTTONS, MARKERS, PAVEMENT STRIPING), COMPLETE IN PLACE	LS		\$575,00	\$575.00	\$1,150.00	\$1,150.00	\$1,824.50	\$1,824.50
12	STREET SIGNS AND TRAFFIC SIGNS, COMPLETE IN PLACE	EA	3	\$600.00	\$1,800.00	\$805.00	\$2,415.00	\$900.00	\$2,700.00
	ADA RAMPS (TYPE 7), INCLUDING TRUNCATED DOME BRICKS, INCLUDES REMOVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER APPURTENANCES, (PER DETAIL SHEET 29), COMPLETE IN PLACE	EA	6	\$1,450.00	\$8,700.00	\$1,865.00	\$11,190.00	\$1,500.00	\$9,000.00
14	REMOVE AND DISPOSE OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	2	\$10.00	\$20.00	\$195.00	\$390.00	\$1.00	\$2.00
15	INSTALL TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1,350.00	\$1,350.00	\$1,380.00	\$1,380.00	\$1,400.00	\$1,400.00
	18' X 8' X 8" CONCRETE MAILBOX PAD WITH #3 BARS AT 15' O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER, LOCATION TO BE DETERMINED), COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$2,025.00	\$2,025.00	\$2,200.00	\$2,200.00
	FULL CONSTRUCTION STAKING FOR PAVING AND APPURTENANCES ITEMS, COORDINATE WITH LIA SURVEYING, INC., AARON G. FERGUSON, 713.953.5196, COMPLETE IN PLACE	LS	1	\$9,300.00	\$9,300.00	\$9,300.00	\$9,300.00	\$9,300.00	\$9,300.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING & APPURTENANCES
TO SERVE GRAND PRAIRIE HIGHLANDS SECTION EIGHT
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
APRIL 12, 2024
LJA ENGINEERING, INC.
C CORTEZ
APRIL 12, 2024
0386-5080C (9.2)

2) HCG

1) BAY PAVING, LLC

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	AS BUILT SURVEY OF PAVING AND APPURTENANCES ITEMS SHOWING ELEVATIONS AT THE TOP OF CURB, BUILDING LINE, BACK OF LOT, SIGNIFICANT SRADE BREAKS AND EXTREME EVENT SWALES, INCLUDES A CERTIFIED EXHIBIT AND AN AUTOCAD FILE OF SURVEY, COORDINATE WITH LIA SURVEYING, INC., AARON G. FERGUSON, 713.953.5196, COMPLETE IN PLACE	LS	1	\$9,600.00	\$9,600.00	\$9,600,00	\$9,600.00	\$9,600.00	\$9,600.00
	EXTRA SURVEY TRIP FOR RESTAKING PREVIOUSLY PROVIDED CONSTRUCTION STAKES THAT WERE DESTROYED BY OTHERS (THIS ITEM DOES NOT INCLUDE RESTAKING DUE TO CONTRACTOR DESTROYING OWN CONSTRUCTION STAKING OR FAILING TO PROTECT CONSTRUCTION STAKING FROM KNOWN HAZARDS SUCH AS CONSTRUCTION TRAFFIC, ORDERING STAKING TOO FAR IN ADVANCE, OR CONTRACTOR'S OWN EQUIPMENT, ETC.)	DAY	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
	FINAL LOT AND RESERVE GRADING, INCLUDING STRIPPING AND PROOFROLLING, HAULING, PLACEMENT, AND COMPACTION OF MATERIALS AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	EA	95	\$175.00	\$16,625.00	\$310.00	\$29,450 00	\$220.00	\$20,900.00
	REGRADING OF EXISTING ROAD SWALES, CONTRACTOR TO ENSURE POSITIVE DRAINAGE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	200	\$5.00	\$1,000.00	\$13,00	\$2,600.00	\$7.00	\$1,400.00
SECTI	ON 8 - PAVING ITEMS (INTERNAL) SUBTOTAL:				\$598,084.35		\$637,138.60		\$635,296.75
SECTI	ON 8 - PAVING ITEMS (TRUNK)								
	ROADWAY, ROW AND LOT EXCAVATION, TO BE USED FOR ONSITE FILL TO MATCH ELEVATIONS PER GRADING PLAN (SHEET 12 OF 29), TO INCLUDE STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION TO 35% STANDARD PROCTOR DENSITY WITH MAXIMUM 8° LIFTS, REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	240	\$10.00	\$2,400.00	\$3.30	\$792.00	\$9.00	\$2,160.00
	8" REINFORCED CONCRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE STRENGTH AND MINIMUM 5 SACKS CEMENT PER CUBIC YARD OF MIX, COMPLETE N PLACE	SY	1284	\$48.00	\$61,632.00	\$48.50	\$62,274.00	\$48.00	\$61,632.00
	5" LIME/FLY ASH STABILIZED SUB-GRADE (MANIPULATION), INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	1379	\$3.15	\$4,343.85	\$4.60	\$6,343.40	\$3.75	\$5 ,171.25
	HYDRATED LIME FOR STABILIZED SUB-GRADE (15 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	11	\$335.00	\$3,685.00	\$365.00	\$4,015.00	\$360.00	\$3,960.00
	FLY ASH FOR STABILIZED SUB-GRADE (40 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	28	\$133.00	\$3,724.00	\$135.00	\$3,780.00	\$151.00	\$4,228.00
6	REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	720	\$3 55	\$2,556.00	\$4.10	\$2,952.00	\$4.25	\$3,060.00
7	4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	104	\$3.55	\$369.20	\$4.10	\$426.40	\$4.25	\$442.00
8	STANDARD PAVING HEADER, COMPLETE IN PLACE	LF	28	\$10.00	\$280.00	\$19.55	\$547.40	\$20.00	\$560.00
	ST BLUE SQUARE DOUBLE REFLECTORIZED BUTTONS LOCATED ACROSS FROM FIRE HYDRANT, COMPLETE IN PLACE	EA	2	\$17.25	\$34.50	\$18.00	\$36 00	\$15.00	\$30 00
10	8° PVC IRRIGATION SLEEVES SCHEDULE 40, PER DETAIL, COMPLETE IN PLACE	LF	74	\$35.00	\$2,590.00	\$58.00	\$4,292.00	\$60.00	\$4,440.00

3) DACO PAVING, INC.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING & APPURTENANCES
TO SERVE GRAND PRAIRIE HIGHLANDS SECTION EIGHT
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
APRIL 12, 2024
LJA ENGINEERING, INC.
C CORTEZ
APRIL 12, 2024
0386-5080C (9.2)

				1) BAY PAV	ING, LLC	2) HC	G	3) DACO PAV	ING, INC.
ITEM DE	ESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
11 STREET SIGNS AND TRAFFIC SIGNS	, COMPLETE IN PLACE	EA	1	\$600,00	\$600,00	\$830.00	\$830,00	\$600,00	\$600,00
12 INSTALL TYPE III BARRICADE, COMP	LETE IN PLACE	EA	1	\$1,350.00	\$1,350,00	\$1,375,00	\$1,375.00	\$1,400.00	\$1,400.00
SECTION 8 - PAVING ITEMS (TRUNK) SUBT	OTAL:				\$83,564.55		\$87,663.20		\$87,683.25
SECTION 8 - STORM WATER POLLUTION P	REVENTION ITEMS							.0	
1 STAGE II INLET PROTECTION BARRII PROPOSED AND EXISTING INLETS	ER (4 GRAVEL BAGS PER INLET) FOR	EA	16	\$50.00	\$800.00	\$85.50	\$1,368.00	\$175,00	\$2,800.00
2 STORMWATER POLLUTION PREVENT A WEEKLY BASIS ACCORDING TO TO	TION INSPECTION REPORTS CONDUCTED ON CEQ PERMIT, COMPLETE IN PLACE	LS	1	\$500,00	\$500.00	\$1,095.00	\$1,095,00	\$3,500.00	\$3,500.00
3 INSTALL, MAINTAIN, AND REMOVE R BARRIER FENCING), COMPLETE IN P	EINFORCED FILTER FABRIC FENCE (SILT PLACE	LF	100	\$1.50	\$150.00	\$2.35	\$235 00	\$2,20	\$220.00
4 INSTALL, MAINTAIN, AND REMOVE C COMPLETE IN PLACE	ONCRETE TRUCK WASHOUT AREA,	EA	1	\$500.00	\$500.00	\$1,200.00	\$1,200.00	\$1,000.00	\$1,000.00
5 INSTALL, MAINTAIN, AND REMOVE S' REGRADE THE AREA TO MATCH FIN ENGINEER), COMPLETE IN PLACE	TABILIZED CONSTRUCTION EXIT AND ISHED GRADE, (AS DIRECTED BY THE	EA	1	\$500.00	\$500.00	\$1,760.00	\$1,760.00	\$1,500.00	\$1,500.00
FROM PROPERTY, ITEM INCLUDES A	CTOR IS TO REMOVE ALL EXISTING TRASH IN ONSITE 30 CY CONTAINER, EMPTYING THE THE SITE, AND REMOVAL OF THE CONTAINER PLACE	EA	1	\$800.00	\$800.00	\$800.00	\$800,00	\$1,000.00	\$1,000.00
SECTION 8 - STORM WATER POLLUTION P	REVENTION ITEMS SUBTOTAL:				\$3,250.00		\$6,458.00		\$10,020.00
SECTION 8 - MISCELLANEOUS ITEMS									
	200 PSI MINIMUM COMPRESSIVE STRENGTH NTY SPECIFICATIONS, (TO BE USED ONLY AT NGINEER), COMPLETE IN PLACE	CY	50	\$20.00	\$1,000.00	\$20.00	\$1,000.00	\$20,00	\$1,000.00
SECTION 8 - MISCELLANEOUS ITEMS SUB	TOTAL:				\$1,000.00		\$1,000.00		\$1,000.00
BIDDING SUMMARY									
SUBTOTAL SECTION 8 - PAVING ITEMS (INT	TERNAL)				\$598,084,35		\$637,138,60		\$635,296.75
SUBTOTAL SECTION 8 - PAVING ITEMS (TR	UNK)				\$83,564.55		\$87,663.20		\$87,683.25
SUBTOTAL SECTION 8 - STORM WATER PO	DLLUTION PREVENTION ITEMS				\$3,250.00		\$6,458.00		\$10,020.00
SUBTOTAL SECTION 8 - MISCELLANEOUS	TEMS				\$1,000.00		\$1,000.00		\$1,000.00
TOTAL AMOUNT BASE BID					\$685,898.90		\$732,259.80		\$734,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE GRAND PRAIRIE HIGHLANDS SECTION EIGHT HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS APRIL 12, 2024
LJA ENGINEERING, INC.
C CORTEZ
APRIL 12, 2024
0386-5080C (9.2)

4) PRECISE SERVICES INC.

ITEM	A DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
SEC1	TION 8 - PAVING ITEMS (INTERNAL)				
1	ROADWAY, ROW AND LOT EXCAVATION, TO BE USED FOR ONSITE FILL TO MATCH ELEVATIONS PER GRADING PLAN (SHEET 12 OF 29), TO INCLUDE STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8° LIFTS, REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	3840	\$5.85	\$22,484.00
2	8" REINFORCED CONCRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE STRENGTH AND MINIMUM 5 SACKS CEMENT PER CUBIC YARD OF MIX, COMPLETE IN PLACE	SY	8888	\$52,00	\$462,176.00
3	6" LIME/FLY ASH STABILIZED SUB-GRADE (MANIPULATION), INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	9491	\$4.95	\$46,980.45
4	HYDRATED LIME FOR STABILIZED SUB-GRADE (15 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	72	\$320.00	\$23,040.00
5	FLY ASH FOR STABILIZED SUB-GRADE (40 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	190	\$135.00	\$25,650 00
6	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	954	\$4.45	\$4,245.30
7	4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	4370	\$4.45	\$18,446.50
8	CONNECT PROPOSED 6" REINFORCED CONCRETE PAVEMENT TO EXISTING 6" CONCRETE PAVEMENT, COMPLETE IN PLACE	LF	56	\$40.00	\$2,240.00
9	STANDARD PAVING HEADER, COMPLETE IN PLACE	LF	28	\$23,50	\$658,00
10	4° BLUE SQUARE DOUBLE REFLECTORIZED BUTTONS LOCATED ACROSS FROM FIRE HYDRANT, COMPLETE IN PLACE	EA	6	\$20.00	\$120.00
11	PERMANENT TRAFFIC CONTROL DEVICES, (INCLUDING ALL TRAFFIC BUTTONS, MARKERS, PAVEMENT STRIPING), COMPLETE IN PLACE	LS		\$1,150.00	\$1,150.00
12	STREET SIGNS AND TRAFFIC SIGNS, COMPLETE IN PLACE	EA	3	\$830.00	\$2,490.00
13	ADA RAMPS (TYPE 7), INCLUDING TRUNCATED DOME BRICKS, INCLUDES REMOVAL OF EXISTING CURB IF REQUIRED AND ALL OTHER APPURTENANCES, (PER DETAIL SHEET 29), COMPLETE IN PLACE	EA	6	\$1,750.00	\$10,500.00
14	REMOVE AND DISPOSE OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE	EA	2	\$100.00	\$200.00
15	INSTALL TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1,400.00	\$1,400.00
	18' X 8' X 8" CONCRETE MAILBOX PAD WITH #3 BARS AT 15' O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY THE ENGINEER, LOCATION TO BE DETERMINED), COMPLETE IN PLACE	EA	1	\$2,845.00	\$2,845.00
	FULL CONSTRUCTION STAKING FOR PAVING AND APPURTENANCES ITEMS, COORDINATE WITH LUA SURVEYING, INC., AARON G. FERGUSON, 713.953.5196, COMPLETE IN PLACE	LS	1	\$9,300.00	\$9,300.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE PAVING & APPURTENANCES
TO SERVE GRAND PRAIRIE HIGHLANDS SECTION EIGHT
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
APRIL 12, 2024
LJA ENGINEERING, INC.
C CORTEZ
APRIL 12, 2024
0386-5080C (9.2)

4) PRECISE SERVICES INC.

ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST		
	AS BUILT SURVEY OF PAVING AND APPURTENANCES ITEMS SHOWING ELEVATIONS AT THE TOP OF CURB, BUILDING LINE, BACK OF LOT, SIGNIFICANT SPRADE BREAKS AND EXTREME EVENT SWALES, INCLUDES A CERTIFIED EXHIBIT AND AN AUTOCAD FILE OF SURVEY, COORDINATE WITH LJA SURVEYING, INC., VARON G. FERGUSON, 713.953.5196, COMPLETE IN PLACE	LS	1	\$9,600.00	\$9,600.00		
	EXTRA SURVEY TRIP FOR RESTAKING PREVIOUSLY PROVIDED CONSTRUCTION STAKES THAT WERE DESTROYED BY OTHERS (THIS ITEM DOES NOT INCLUDE RESTAKING DUE TO CONTRACTOR DESTROYING OWN CONSTRUCTION STAKING OR FAILING TO PROTECT CONSTRUCTION STAKING FROM KNOWN HAZARDS SUCH AS CONSTRUCTION TRAFFIC, ORDERING STAKING TOO FAR IN ADVANCE, OR CONTRACTOR'S OWN EQUIPMENT, ETC.)	DAY	1	\$2,000.00	\$2,000,00		100
1	FINAL LOT AND RESERVE GRADING, INCLUDING STRIPPING AND PROOFROLLING, IAULING, PLACEMENT, AND COMPACTION OF MATERIALS AND REPLACEMENT OF STRIPPINGS, COMPLETE IN PLACE	EA	95	\$245.00	\$23,275.00	0	9
- 1	REGRADING OF EXISTING ROAD SWALES, CONTRACTOR TO ENSURE POSITIVE DRAINAGE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	200	\$5.85	\$1,170.00		
SECTIO	ON B - PAVING ITEMS (INTERNAL) SUBTOTAL:				\$670,950.25		
SECTI	ON 8 - PAVING ITEMS (TRUNK)						
5	ROADWAY, ROW AND LOT EXCAVATION, TO BE USED FOR ONSITE FILL TO MATCH ELEVATIONS PER GRADING PLAN (SHEET 12 OF 29), TO INCLUDE STRIPPING AND PROOFROLLING, HAULING, PLACEMENT AND COMPACTION TO 55% STANDARD PROCTOR DENSITY WITH MAXIMUM 8° LIFTS, REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	240	\$5.85	\$1,404.00		
	* REINFORCED CONCRETE PAVEMENT, MINIMUM 3,000 PSI COMPRESSIVE ITRENGTH AND MINIMUM 5 SACKS CEMENT PER CUBIC YARD OF MIX, COMPLETE N PLACE	SY	1284	\$52.00	\$66,768.00		
	" LIME/FLY ASH STABILIZED SUB-GRADE (MANIPULATION), INCLUDES COMPACTION TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	SY	1379	\$4.95	\$6,826.05		
	IYDRATED LIME FOR STABILIZED SUB-GRADE (15 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN LACE	TON	11	\$320,00	\$3,520.00		
(LY ASH FOR STABILIZED SUB-GRADE (40 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN LACE	TON	28	\$135.00	\$3,780.00		
6 6	REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	720	\$4,45	\$3,204.00		
7 4	" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	104	\$4.45	\$462.80		
8 5	TANDARD PAVING HEADER, COMPLETE IN PLACE	LF	28	\$23.50	\$658.00		
	BLUE SQUARE DOUBLE REFLECTORIZED BUTTONS LOCATED ACROSS FROM IRE HYDRANT, COMPLETE IN PLACE	EA	2	\$20.00	\$40.00		
10 6	PVC IRRIGATION SLEEVES SCHEDULE 40, PER DETAIL, COMPLETE IN PLACE	LF	74	\$50,00	\$3,700.00		

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING & APPURTENANCES
TO SERVE GRAND PRAIRIE HIGHLANDS SECTION EIGHT
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 570C
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
APRIL 12, 2024
LJA ENGINEERING, INC.
C CORTEZ
APRIL 12, 2024
0386-5080C (9.2)

4) PRECISE SERVICES INC.

				4) PRECISE SER	RVICES INC.
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST
11 STREET SIGNS AND TRA	AFFIC SIGNS, COMPLETE IN PLACE	EA	1	\$830,00	\$830.00
12 INSTALL TYPE III BARRI	CADE, COMPLETE IN PLACE	EA	1	\$1,400.00	\$1,400.00
SECTION 8 - PAVING ITEMS (T	RUNK) SUBTOTAL:				\$92, 5 92.85
SECTION 8 - STORM WATER F	POLLUTION PREVENTION ITEMS				
1 STAGE II INLET PROTECT PROPOSED AND EXISTI	CTION BARRIER (4 GRAVEL BAGS PER INLET) FOR ING INLETS	EA	16	\$50.00	\$800.00
	ION PREVENTION INSPECTION REPORTS CONDUCTED ON RDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$500,00	\$500,00
3 INSTALL, MAINTAIN, ANI BARRIER FENCING), CO	D REMOVE REINFORCED FILTER FABRIC FENCE (SILT MPLETE IN PLACE	LF	100	\$1,50	\$150,00
4 INSTALL, MAINTAIN, AND COMPLETE IN PLACE	D REMOVE CONCRETE TRUCK WASHOUT AREA,	EA	1	\$500.00	\$500.00
	D REMOVE STABILIZED CONSTRUCTION EXIT AND DISCRETE BY THE INCLUDED BY THE IN PLACE	EA	1	\$500.00	\$500.00
FROM PROPERTY, ITEM	ER, CONTRACTOR IS TO REMOVE ALL EXISTING TRASH 4 INCLUDES AN ONSITE 30 CY CONTAINER, EMPTYING THE RNING IT TO THE SITE, AND REMOVAL OF THE CONTAINER DMPLETE IN PLACE	EA	1	\$800,00	\$800.00
SECTION 8 - STORM WATER P	POLLUTION PREVENTION ITEMS SUBTOTAL:				\$3,250.00
SECTION 8 - MISCELLANEOUS	SITEMS				
AFTER 48 HOURS, PER	IZED SAND, 200 PSI MINIMUM COMPRESSIVE STRENGTH HARRIS COUNTY SPECIFICATIONS, (TO BE USED ONLY AT ON OF THE ENGINEER), COMPLETE IN PLACE	CY	50	\$20,00	\$1,000.00
SECTION 8 - MISCELLANEOUS	B ITEMS SUBTOTAL:				\$1,000.00
BIDDING SUMMARY					
SUBTOTAL SECTION 8 - PAVIN					\$670,950.25
SUBTOTAL SECTION 8 - PAVIN					\$92,592.85
	M WATER POLLUTION PREVENTION ITEMS				\$3,250.00
SUBTOTAL SECTION 8 - MISCE	ELLANEOUS ITEMS				\$1,000.00
TOTAL AMOUNT BASE BID					\$767,793.10

